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• Hmwk due Fri
.

Prob 2 has an added hypothesis.

• Stuff posted
• Midterms graded by today
• Agenda : Kuratowski 's Theorem C proof )

Thin ( 4. 4. 6) Kuratowski 's -1hm

C- is planar c⇒ G does not contain K5 or

K
3,3 as a minor
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Recall differences between topological minors and
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ED Want to find a Ctop ) minor of H

•
×

y@oo%⇐
A c d e

a b

Find topological minor T
in G

,

a

" " :min

:** v;⑧¥¥• co co a

Ha-ha-ahahaay⑦
f

ICHI
3

,
then every minor is atop . minor

Eeo
( Prop 1.7.37



Lemma 4. 4.2
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Lemma 3. 2.4

If G 3 - connected
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This contradicts C as smallest
.


